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funsZ’k % & 1. ijh{kkFkhZ vius vuqØekad] fo”k; ,oa Á’uiqfLrdk dh fljht dk fooj.k ;FkkLFkku lgh& lgh Hkjsa] vU;Fkk 

ewY;akdu esa fdlh Hkh Ádkj dh folaxfr dh n’kk esa mldh ftEesnkjh Lo;a ijh{kkFkhZ dh gksxhA 
 2. bl Á’uiqfLrdk esa 100 Á’u gSa] ftues ls dsoy 75 Á’uksa ds mRrj ijh{kkfFkZ;ksa }kjk fn;s tkus gSA ÁR;sd 

Á’u ds pkj oSdfYid mRrj Á’u ds uhps fn;s x;s gSaA bu pkjksa esa ls dsoy ,d gh mRrj lgh gSA ftl 

mRrj dks vki lgh ;k lcls mfpr le>rs gSa] vius mRrj i=d (O.M.R. ANSWER SHEET) 
esa mlds v{kj okys oR̀r dks dkys ;k uhys cky IokabV isu ls iwjk Hkj nsaA ;fn fdlh ijh{kkFkhZ }kjk 

fu/kkZfjr Á’uksa ls vf/kd Á’uksa ds mRrj fn;s tkrs gSa rks mlds }kjk gy fd;s x;s ÁFker% ;Fkk fufnZ”V 

Á’uksRrjksa dk gh ewY;kadu fd;k tk;sxkA 

 3. ÁR;sd Á’u ds vad leku gSaA vki ds ftrus mRrj lgh gksaxs] mUgha ds vuqlkj vad Ánku fd;s tk;saxsA 

 4. lHkh mRrj dsoy vksŒ,eŒvkjŒ mRrj i=d (O.M.R. ANSWER SHEET) ij gh fn;s tkus gSaA 

mRrj i=d esa fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k mRrj ekU; ugha gksxkA 

 5. vksŒ,eŒvkjŒ mRrj i=d (O.M.R. ANSWER SHEET) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s 

x;s lHkh vuqns’kksa dks lko/kkuhiwoZd i<+ fy;k tk;A  

 6. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks viuh Á’uiqfLrdk cqdysV ,oa vksŒ,eŒvkjŒ ‘khV 

iF̀kd&iF̀kd miyC/k djkus ds ckn gh ijh{kk d{k ls ÁLFkku djsaA 

 7. fuxsfVo ekfdZax ugha gSA 

egRoiw.kZ % &  Á’uiqfLrdk [kksyus ij ÁFker% tkWp dj ns[k ysa fd Á’uiqfLrdk ds lHkh ì”B HkyhHkkWfr Nis gq, gSaA ;fn 

Á’uiqfLrdk esa dksbZ deh gks] rks d{k fujh{kd dks fn[kkdj mlh fljht dh nwljh Á’uiqfLrdk ÁkIr dj ysaA 
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1. How long did it take to make the Indian 
constitution? 
(A) 2 year 11 month 18 days 
(B) 2 year 18  month 11 days 
(C) 2 year 10 month 18 days 
(D) 2 year 18 month 10 days 

 1. Hkkjrh; lafo/kku ds fuekZ.k es fdruk le; yxk\ 
(A) 2 o”kZ 11 ekg 18 fnu 
(B) 2 o”kZ 18 ekg 11  fnu 
(C) 2 o”kZ 10 ekg 18 fnu 
(D) 2 o”kZ 18 ekg 10 fnu 

2. What is the form of Government? 
(A)   Parliamentary 
(B) Presidential 
(C) Monarchy 
(D) None 

 2. Hkkjrh; lafo/kku dh ‘kklu iz.kkyh D;k gS\ 
(A) lalnh; 
(B) v/;{kkRed 
(C) jktrU=h; 
(D) buesa ls dksbZ ugha 

3. What was the constitution of India adopted by 
constitution assembly? 
(A)    25 November 1949 
(B) 26 November  1949 
(C) 26 December 1949 
(D) 28 November 1949 

 3. lafo/kku lHkk }kjk Hkkjr ds lafo/kku dks dc 
vaxhd̀r fd;k x;k Fkk\ 
(A) 25 uoEcj 1949 
(B) 26 uoEcj 1949 
(C) 26 fnlEcj 1949 
(D) 28 uoEcj 1949 

4. The Indian constitution consists of how many 
articles? 
(A) 365 
(B) 444 
(C) 395 
(D) 448 

 4. Hkkjrh; lafo/kku esa fdrus vuqPNsn gSa\ 
(A) 365 
(B) 444 
(C) 395 
(D) 448 

5. The executive power of the union is vested in-  
(A)   President of India 
(B) Parliament  
(C) Prime Minister 
(D) Council of ministers 

 5. Hkkjrh; la?k dh dk;Zikfydk ‘kfDr fdlesa fufgr gS 
(A) jk”Vªifr 
(B) laln 
(C) iz/kkuea=h 
(D) eaf=ifj”kn 

6. President of India  
(A)   Is a member of Lok Sabha 
(B) Is a member of Rajya Sabha 
(C) Is a member of Both house 
(D) Is not a member of eigher house 

 6. Hkkjr dk jk”Vªifr& 
(A) yksd lHkk dk lnL; gksrk gS 
(B) jkT;lHkk dk lnL; gksrk gS 
(C) nksuksa lnuksa dk lnL; gksrk gS 
(D) fdlh Hkh lnu dk lnL; ugha gksrk 

7. Which one of the following types of justice is not 
provided by the India constitution?   
(A)   Social justice 
(B) Economic justice 
(C) Political justice   
(D) Moral justice 

 7. fuEufyf[kr esa dkSu ls izdkj dk U;k; Hkkjrh; 
lafo/kku }kjk iznRr ugha gS\ 
(A) lkekftd U;k; 
(B) vkfFkZd U;k; 
(C) jktuSfrd U;k; 
(D) uSfrd U;k; 

8. Who called the Indian constitution as quiasi-
federal? 
(A)   Pandit Jawahar Lal Nehru 
(B) Pr. K.C. Wheare 
(C) Dr. Bhimrao Ambedkar 
(D) None of these 

 8. 
 
 

fdlus Hkkjrh; lafo/kku dks v)Zifjla?kkRed dgk gS\ 
(A) iaŒ tokgj yky usg: 
(B) izksŒ ds lh fOg;j 
(C) Mk0 Hkhejko vEcsMdj 
(D) buesa ls dksbZ ugha 

9. The feature the indian constitution is not- 
(A)   Written constitution 
(B) Parliamentary form of Government  
(C) Fundamental rights 
(D) Dual citizenship  

 9. Hkkjrh; lafo/kku dh fo’ks”krk ugha gS 
(A) fyf[kr lafo/kku 
(B) lalnh; ‘kklu iz.kkyh 
(C) ewy vf/kdkj 
(D) nksgjh ukxfjdrk  
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10. The President of India is elected  
(A)   By the people  
(B) By the Parliament    
(C) By the members of Lok Sabha 
(D) By the elected members of Parliament and 

the elected members of the legislative 
assemblies 

 10. Hkkjr ds jk”Vªifr dk pquko fd;k tkrk gS& 
(A) turk }kjk 
(B) laln }kjk 
(C) yksdlHkk ds lnL;ksa }kjk 
(D) laln ds fuokZfpr lnL; vkSj fo/kku 

lHkkvks ds fuokZfpr lnL;ksa }kjk 
11. Which article of Indian constitution provides for 

the re election of President? 
(A)   Article 56 
(B) Article 57 
(C) Article 58 
(D) Article 59 

 11. lafo/kku ds fdl vuqPNsn esa jk”Vªifr ds iqu% 
fuokZpu dk izko/kku gS\ 
(A) vuqPNsn 56 
(B) vuqPNsn 57 
(C) vuqPNsn 58 
(D) vuqPNsn 59 

12. In which article of the constitution provide the 
provision of impeachment of the President? 
(A)   Article 61 
(B) Article 65 
(C) Article 71 
(D) Article 72 

 12. jk"Vªifr ij egkvfHk;ksx dh izfØ;k lafo/kku ds 
fdl vuqPNsn esa gS\ 
(A) vuqPNsn 61 
(B) vuqPNsn 65 
(C) vuqPNsn 71 
(D) vuqPNsn 72 

13. What are the grounds for the Impeachment of a 
President   
(A)   Proved misbehabiour  
(B)    Violation of the constitution  
(C) Incapacity 
(D) All of above 

 13. jk"Vªifr ij egkfHk;ksx dh izfØ;k dk D;k vk/kkj 
gS\ 
(A) fl)dnkpkj 
(B) lafo/kku dk vfrØze.k 
(C) vleFkZrk 
(D) lHkh 

14. Charges for the Impeachment of the President 
can be, initiated  
(A)   Only in Rajya Sabha 
(B) Only in Lok Sabha 
(C) In any house 
(D) None of these 

 14. jk"Vªifr ds egkfHk;ksx ds fy, vkjksi izkjEHk fd;k 
tk ldrk gS 
(A) dsoy jkT; lHkk esa 
(B) dsoy yksd lHkk esa 
(C) fdlh Hkh lnu esa 
(D) buesa ls fdlh eas ugha 

15. Which of the following is not appointed by the 
president of India?  
(A)   Attorney general  
(B) Chief justice of India 
(C) Chief election commissioner  
(D) Solicitor general  

 15. fuEufyf[kr esa dkSu Hkkjr ds jk"Vªifr }kjk fu;qDr 
ugha fd;k tkrk 
(A) egkU;k;oknh 
(B) Hkkjr dk eq[; U;k;k/kh’k 
(C) eq[; pquko vk;qDr 
(D) egkf/koDrk 

16. In which article of constitution the President has 
power  to pass ordinances  
(A)   Article 123 
(B) Article 122 
(C) Article 138 
(D) Article 213 

 16. Hkkjr ds lafo/kku ds fdl vuqPNsn esa jk"Vªifr dks 
v/;kns'k ikfjr djus dh 'kfDr izkIr gSA 
(A) vuqPNsn 123 
(B) vuqPNsn 122 
(C) vuqPNsn 138 
(D) vuqPNsn 213 

17. Who has power grant pardons, reprive respite 
provided in article 72 of consititution ? 
(A)   President 
(B) Governor 
(C) Prime Minister  
(D) Parliament 

 17. lafo/kku ds vuqPNsn 72 esa iznRr n.M dks {kek 
ifjgkj fojke djus dh ‘kfDr fdlds ikl gS\ 
(A) jk”Vªifr 
(B) jkT;iky 
(C) iz/kkuea=h 
(D) laln 



Series-A BA LLB-106 / 815 Page - 5 

18. Who is the ex-officio chairman of Rajya Sabha? 
(A)   Prime Minister 
(B) Lok Sabha Speaker 
(C) Vice President 
(D) None of these 
 

 18. jkT; lHkk dk ins~u lHkkifr dkSu gksrk gS\ 
(A) iz/kkuea=h 
(B) yksd lHkk v/;{k 
(C) mijk”Vªifr  
(D) buesa ls dksbZ ugha 

19. Council of Minister appoints - 
(A)   By Parliament  
(B) By President 
(C) By Prime Minister 
(D) Vice President 

 19. dsafUnz; eaf=ifj”kn dh fu;qfDr dh tkrh gS\ 
(A) laln }kjk 
(B) jk”Vªifr }kjk 
(C) iz/kkuea=h }kjk 
(D) mijk”Vªifr }kjk 

20. To Whom is the council of ministers responsible? 
(A)   To President 
(B) To People 
(C) To Prime Minister 
(D) To Lok Sabha 

 20. eaf=ifj”kn fdlds izfr mRrjnk;h gksrh gS\ 
(A) jk”Vªifr ds izfr 
(B) turk ds izfr 
(C) iz/kkuea=h ds izfr 
(D) yksd lHkk ds izfr 

21. In Which article of Indian constitution, the principle 
of collective responsibility of council of Ministers is 
given? 
(A)   Article 75(3) 
(B) Article 74(1) 
(C) Article 75 
(D) Article 75(1) 

 21. Hkkjr ds lafo/kku esa eaf=ifj”kn ds lkewfgd 
mRrjnkf;Ro dk fl)kUr fn;k gS& 
(A) vuqPNsn 75¼3½  
(B) vuqPNsn 74¼1½ 
(C) vuqPNsn 75 
(D) vuqPNsn 75¼1½ 

22. Under which article of the constitution coners  
power to grant pardon to Governor  
(A)   Article 151 
(B) Article 161 
(C) Article 171 
(D) None of these 

 22. Hkkjrh; lafo/kku dk dkSu lk vuqPNsn jkT;iky dks 
{keknku dh ‘kfDr iznku djrk gS\ 
(A) vuqPNsn 151 
(B) vuqPNsn 161 
(C) vuqPNsn 171 
(D) buesa ls dksbZ ugh 

23. Which is the correct order of preamble of Indian 
constitution ? 
(A)   Sovereign socialist secular democratic 

republic  
(B) Sovereign secular socialist democratic 

republic 
(C) Sovereign socialist democratc secular 

republic  
(D) Sovereign secular socialist  

 23. Hkkjr ds lafo/kku dh izLrkouk dk dkSu lk lgh 
Øe gS\ 
(A) izHkqlRrk laiUu] lektoknh iaFk fujis{k 

iztkrkaf=d] x.kra= 
(B) izHkqlRrk laiUu] iaFk fujis{k  lektoknh 

iztkrakf=d] x.kra= 
(C) izHkqlRrk laiUu] lektoknh iztkrakf=d iaFk 

fujis{k] x.kra= 
(D) izHkqlRrk laiUu iaFk fujis{k lektoknh  

24. The words ‘secular’ and integrity were inserted in 
the preamble by which constitution amendment? 
(A)   First 
(B) 24 th 
(C) 42 
(D) 44 

 24. fdl lafo/kku la’kks/ku vf/kfu;e }kjk lafo/kku dh 
izLrkouk esa iaFk fujis{k ¼/keZfujis{k½ ,oa v[k.Mrk 
‘kCn tksMs x;s Fks\ 
(A) izFke lafo/kku la’kks/ku 
(B) 24 oka lafo/kku la’kks/ku 
(C) 42 oka lafo/kku la’kks/ku 
(D) 44 oka lfo/kku la’kks/ku 

25. What is included in the composition of 
Parliament?  
(A)   Only Lok Sabha 
(B) Lok Sabha, Rajya Sabha 
(C) President, Rajya Sabha and Lok Sabha 
(D) None of above 

 25. Lkaln dh lajpuk esa D;k ‘kkfey gS\ 
(A) dsoy yksd lHkk 
(B) yksd lHkk vkSj jkT; lHkk 
(C) jk”Vªifr] jkT; lHkk vkSj yksd lHkk 
(D) buesa ls dksbZ ugha 
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26. How many years in the term of Lok Sabha? 
(A)    6 year 
(B) 5 year 
(C) 3 year 
(D) 2 year 

 26. Ykksd lHkk ds lnL;ksa dk dk;Zdky fdrus o”kZ dk 
gksrk gSA 
(A) 6 o”kZ 
(B) 5 o”kZ 
(C) 3 o”kZ 
(D) 2 o”kZ 

27. How many persons does the President nominate 
to the Parliament  
(A)   10 
(B) 02 
(C) 12 
(D) 14 

 27. jk"Vªifr dqy fdrus O;fDr;ksa dks laln esa ukfer 
dj ldrk  gS\ 
(A)     10 
(B)  02 
(C) 12 
(D) 14 

28. What is the tenure of Rajya Sabha? 
(A)   2 year  
(B) 5 year 
(C) 6 year 
(D) None of these 

 28. jkT; lHkk dk dk;Zdky fdruk gksrk gS\ 
(A) 2 o”kZ 
(B) 5 o”kZ 
(C) 6 o”kZ 
(D) buesa ls dksbZ ugha 

29. Who has power to call a joint sitting of both the 
houses of Parliament? 
(A)   Prime Minister 
(B) President 
(C) Lok Sabha Speaker 
(D) Vice President 

 29. laln ds nksukas lnuksa dh la;qDr cSBd cqykus dh 
vf/kdkfjrk fdls izkIr gS\ 
(A) iz/kkuea=h  
(B) jk”Vªifr  
(C) yksd lHkk v/;{k 
(D) mijk”Vªifr 

30. Who will deside whe a bill is a money bill or not? 
(A)   Prime Minister 
(B) Finance Minister 
(C) Lok Sabha Speaker 
(D) Vice President 

 30. dksbZ fo/ks;d /ku fo/ks;d gS ;k ugha bldk fu.kZ; 
dkSu djsxk\ 
(A) iz/kkuea=h  
(B) foRr ea=h  
(C) yksd lHkk v/;{k 
(D) mijk”Vªifr 

31. Which of the following article is related to doctrine 
of territorial nexus? 
(A)   Article 13 
(B)  Article 211 
(C)  Article 245 
(D)  Article 300 

 31. {ksf=d lacU/k dk fl)kUr lEcfU/kr gS 
(A) vuqPNsn 13 ls 
(B) vuqPNsn 211 ls 
(C) vuqPNsn 245 
(D) vuqPNsn 300 

32. Who has the pesiduary powers according to the 
indian constitution? 
(A)   President 
(B) State  
(C) Parliament 
(D) Prime Minister 

 32. Hkkjrh; lafo/kku ds vuqlkj vof’k”V ‘kfDr;ka 
fdlds ikl gSa\ 
(A) jk”Vªifr 
(B) jkT; 
(C) laln 
(D) iz/kkuea=h 

33. By whose recommendation the financial 
distribution is made between the union and the 
state? 
(A)   Finance Commission 
(B) Niti Aayog 
(C) National development council 
(D) None of these 

 33. fdldh laLrqfr ij la?k ,oa jkT;ksa ds e/; foRrh; 
forj.k fd;k tkrk gS\ 
(A) foRr vk;ksx 
(B) uhfr vk;ksx  
(C) jk”Vªh; fodkl ifj”kn 
(D) buesa ls dksbZ ugha 
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34. “Preamble” is the part of Indian constitution 
declared in the case of  
(A)   Menka Ganghi vs union of India 1978 
(B) Keshwanand Bharti state vs state of Kerla 

1973 
(C) Vishakha vs state of Rajasthan 1997 
(D) Indira sawhney vs union of india  1992 

 34. ÞizLrkoukß Hkkjrh; lafo/kku dk vax g]S fdl okn esa 
fu/kkZfjr fd;k x;k\  
(A) esudk xka/kh cuke Hkkjr la?k 1978 
(B) ds’kokuUn Hkkjrh cuke dsjy jkT; 1973 
(C) fo’kk[kk cuke jktLFkku jkT; 1997 
(D) bafUnjk lkguh cuke Hkkjr la?k 1992 

35. Who is empowered to enlarge the power of 
supreme court?  
(A)   Parliament  
(B) President 
(C) Cabinet 
(D) Chief justice 

 35. loksZPp U;k;ky; dh ‘kfDr;ksa esa vfHkof̀) djus ds 
fy, dkSu l’kDr gS\ 
(A) laln 
(B) jk”Vªifr 
(C) efU=ifj”kn  
(D) eq[; U;k;/kh’k 

36. The supreme court is establised under following 
article:  
(A)   231 
(B) 224 
(C) 124 
(D) 114 

 36. loksZPp U;k;ky; dh LFkkiuk fuEufyf[kr vuqPNsn 
}kjk dh xbZ gS% 
(A) vuqPNsn 231 
(B) vuqPNsn 224 
(C) vuqPNsn 124 
(D) vuqPNsn 114 

37. Under which article of the constitution of India, the 
law declared by supreme court is binding on all 
court? 
(A)   Article  142 
(B) Article 141 
(C) Article 143 
(D) Article 145 

 37. Hkkjr ds lafo/kku ds fdl vuqPNsn ds vUrxZr 
loksZPp U;k;ky; }kjk ?kksf”kr fof/k lHkh U;k;ky;ks 
ij ckº;dkjh gksrh gS\ 
(A) vuqPNsn 142 
(B) vuqPNsn 141 
(C) vuqPNsn 143 
(D) vuqPNsn 145 

38. The right of Judicial review in India is  
(A)   Only supreme court  
(B) Supreme court and high court both 
(C) All courts 
(D) None of these 

 38. Hkkjr esa U;kf;d iqufoZyksdu dk vf/kdkj gS 
(A) dsoy mPpre U;k;ky; dsk 
(B) mPp U;k;ky; vkSj mPpre U;k;y; nksuksa 

dks 
(C) lHkh U;k;ky; dks 
(D) buesa ls dksbZ ugha 

39. The original Jarisdiction of the supreme court is- 
(A)  Dispute between state and union 
(B) Disbute between persons 
(C) Above both 
(D) None 

 39. mPpre U;k;ky; dk izkjafHkd {ks=kf/kdkj gS& 
(A) jkT; vkSj la?k ds fo:) okn 
(B) O;fDr vkSj O;fDr ds fo:)okn 
(C) mi;qZDr nksuks 
(D) dksbZ ugha 

40. What is the retirement age of supereme court 
judge? 
(A)   58 year 
(B) 70 year 
(C) 62 year 
(D) 65 year 

 40. mPpre U;k;ky; dk U;k;/kh’k dh lsok fuo`r dh 
vk;q D;k gS 
(A) 58 o”kZ 
(B) 70 o”kZ 
(C) 62 o”kZ 
(D) 65 o”kZ 

41. Which article of constitution provides that every 
high court shall be of record? 
(A)   215 
(B) 216 
(C) 217 
(D) 225 

 41. Lakfo/kku dk dkSu lk vuqPNsn ;g micfU/kr djrk gS 
fd izR;sd mPp U;k;ky; ,d vfHkys[k U;k;ky; gS 
(A) 215 
(B) 216 
(C) 217 
(D) 225 



Series-A BA LLB-106 / 815 Page - 8 

42. What not a qualification for appointment to high 
court? 
(A)   He must be an Indian citizen  
(B) Has for a least 10 years been an advocate 

of high court 
(C) He must have  attained age of 35 years 
(D) He has for at least ten years held a 

jusdicial office in India 

 42. mPp U;k;ky; ds U;k;k/kh’k dh fu;qfDr ds fy, 
dkSu lh vgZrk ugha gS\ 
(A) og Hkkjr dk ukxfjd gksuk pkfg,A 
(B) mPp U;k;ky; esa de ls de 10 o”kZ rd 

vf/koDrk ds :i esa vuqHko  
(C) mlus 35 o”kZ dh vk;q izkIr dh gksA 
(D) mlus Hkkjr esa de ls de 10 o”kZ rd 

U;kf;d in /kkj.k fd;k gksA 
43. Whose opinion has primacy in the appointment of 

a high court judge? 
(A)   President  
(B) Prime Minister 
(C) Low minister 
(D) Chief justice of India 

 43. mPp U;k;ky; ds U;k;k/kh’kkssa dh fu;qfDr esa fdlds 
jk; dh iz/kkurk gS 
(A) Hkkjr ds jk”Vªifr  
(B) iz/kkuea=h 
(C) fof/k ea=h 
(D) loksZPPk U;k;ky; ds eq[; U;k;k/kh’k 

44. Which of the folloing writs can be issued by a high 
court 
(A)   Prohibition 
(B) Mandamus 
(C) Certiorari 
(D) All of above 

 44. fuEu esa dkSu lh fjV mPp U;k;ky; }kjk tkjh dh 
tk ldrh gS\ 
(A) izfr”ks/k 
(B) ijekns’k 
(C) mRizs”k.k 
(D) ;s lHkh 

45. Who appoints the officers and employees of the 
high court 
(A)   Chief justice of high court 
(B) Governor of state 
(C) Public service commision 
(D) Low minister 

 45. mPp U;k;ky; ds vf/kdkfj;ksa ,oa deZpkfj;ksa dh 
fu;qfDr dkSu djrk gS\ 
(A) mPp U;k;ky; dk eq[;U;k;k/kh’k 
(B) lEcfU/kr jkT; dk jkT;iky 
(C) yksd lsok vk;ksx 
(D) fof/k ea=h 

46. Which of the following juris diction is not exercised 
by the high court  
(A)   Write jurisdiction 
(B) Appellate jurisdiction 
(C) Original jurisdiction 
(D) Advisory jurisdiction 

 46. fuEufyf[kr esa ls dkSu lh vf/kdkfjrk dk mPp 
U;k;ky;ks }kjk iz;ksx ugha fd;k tkrk gS\ 
(A) fjV vf/kdkfjrk 
(B) vihyh; vf/kdkfjrk 
(C) ekSfyd vf/kdkfjrk 
(D) ijke’kZnk;h vf/kdkfjrk 

47. How many high court are in India? 
(A)   24 
(B) 25 
(C) 26 
(D) 27 

 47. Hkkjr esa dqy fdrus mPp U;k;ky; gS\ 
(A)   24 
(B) 25 
(C) 26 
(D) 27 

48. Which of the following does not come under the 
jurisdiction of Punjab and Haryana high court? 
(A)   Panjab 
(B) Haryana 
(C) Chandigarh 
(D) Delhi 

 48. fuEufyf[kr esa ls dkSu iatkc ,oa gfj;k.kk mPp 
U;k;ky; ds {ksf=; {ks=kf/kdkj ds vUrxZr ugha 
vkrk gS\ 
(A) iatkc 
(B) gfj;k.kk 
(C) paMhx< 
(D) fnYyh 

49. Under which article the high courts have power of 
superintendence over all courts?   
(A) 226 
(B) 227 
(C) 224 
(D) 223 

 49. mPp U;k;ky; dh vU; U;k;ky;ksa ij v/kh{k.k 
‘kfDr fdl vuqPNsn esa izkIr gS\ 
(A) 226 
(B) 227 
(C) 224 
(D) 223 
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50. Who is chief justice of supreme court ? 
(A)   Justice deepak Misra 
(B) Justice Ranjan Gogoi 
(C) Justice Sharad Arvind Bobde 
(D) Justice N.V. Ramana 

 50. loksZPp U;k;ky; ds eq[; U;k;k/kh’k dkSu gS 
(A) U;k;ewfrZ nhid feJk 
(B) U;k;ewfrZ jatu xksxksbZ 
(C) U;k;ewfrZ ‘kjn vjfoUn ckscMs 
(D) U;k;ewfrZ ,u0 oh0 je.k 

51. Which article of the constitution provides for 
money bill? 
(A)   109 
(B) 110 
(C) 111 
(D) 112 

 51. Hkkjrh; lafo/kku ds fdl vuqPNsn esa /ku fo/ks;d 
dk izko/kku gS\ 
(A) 109 
(B) 110 
(C) 111 
(D) 112 

52. Which doctrine related to the division of legislative 
powers between the union and state?  
(A)    Doctrine  of waiver  
(B)   Doctrine of pith, and substance 
(C) Doctrine of elecps  
(D) Doctrine of severability 

 52. dkSu lk fl)kUr la?k vkSj jkT;ksa ds e/; fo/kk;h 
‘kfDr;ksa ds foHkktu ls lacfU/kr gS\ 
(A) vf/kR;kx dk fl)kUr 
(B) lkj ,oa rRo dk fl)kUr 
(C) vPNknu dk fl)kUr 
(D) iF̀kDdj.k dk fl)kUr 

53. After the passing of a money bill by the lokSabha 
if the rajyaSabha dose not take any action then 
how many days it is considered to have been 
passed together?  
(A)   20 Days 
(B) 30 Days 
(C) 14 Days 
(D) 15 Days 

 53. Ykksd lHkk }kjk /ku fo/ks;d ds ikfjr gksus ds ckn] ;fn 
jkT; lHkk }kjk dksbZ dk;Zokgh u dh tkus ij mls 
fdrus fnu i'pkr ikfjr gqvk eku fy;k tkrk gS\ 
(A) 20 fnu 
(B) 30 fnu 
(C) 14 fnu 
(D) 15 fnu 

54. Parliament has power to make law on subject of 
state list if it- 
(A)   Public Interest 
(B) National Interest 
(C)    Both 
(D) None of Above 

 54. Lakln dks jkT; lwph ds fo”k; ij fof/k cukus dh 
‘kfDr iznku dh xbZ gS];fn og& 
(A) yksdfgr esa gks 
(B) jk”Vªfgr esa gks 
(C) mi;qZDr nksuks 
(D) mi;ZqDr nksuks ugha 

55. “What can not be done directly can not be done 
indirectly” this statement is releted to the doctrine of: 
(A)   Pith and substance 
(B) Ancillary power 
(C) Colourable legislation 
(D)    Iplied power 

 55. ftl dk;Z dks izR;{kr% ugha fd;k tk ldrk mlds 
ijks{krk Hkh ugha fd;k tk ldrk ;g dFku 
lEcfU/kr gS% 
(A) lkj ,oa rRo ds fl)kUr ls 
(B) vkuq”kafxd ‘kfDr ds fl)kUr ls 
(C) vHkklh fo/kk;u ds fl)kUr ls 
(D) foof{kr ‘kfDr ds fl)kUr ls 

56. The maximum interval between the two sessions 
of each house of legislature is: 
(A)    Three months 
(B) Four months 
(C) Six months 
(D) Twelve months 

 56. jkT; fo/kku e.My ds izR;sd lnu ds nks l=ksa ds 
chp dk vf/kdre vUrjky gS\ 
(A) rhu ekg 
(B) pkj ekg 
(C) N% ekg 
(D) 12 ekg 

57. Which article of Indian constitution says that will 
be an election commission in India? 
(A)   Article 124 
(B)  Article 342 
(C)  Article 324 
(D)  Article 115 

 57. Hkkjrh; lafo/kku dk dkSu lk vuqPNsn ;g dgrk gS 
fd Hkkjr esa ,d pquko vk;ksx gksxk\ 
(A) vuqPNsn 124 
(B) vuqPNsn 342 
(C) vuqPNsn 324 
(D) vuqPNsn 115 
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58. How many election commissioners are in the 
election commission ? 
(A)   3 
(B) 4 
(C) 5 
(D) 6 

 58. 
 
 

Pkquko vk;ksx esa fdrus pquko vk;qDr gksrs gSa\ 
(A) 3 
(B) 4  
(C) 5 
(D) 6 

59. Who appoints the chief election commission? 
(A)   Parliament 
(B) President of India 
(C) Prime Minister  
(D) Law minister 

 59. eq[; pquko vk;qDr dh fu;qfDr dkSu djrk gS\ 
(A) laln  
(B) jk”Vªifr 
(C) iz/kkuea=h 
(D) fof/kea=h 

60. Whose election is not held under the supervision 
of the chief election commissioner? 
(A)   Legislatev assembly 
(B) Vice President  
(C) Gram panchayat 
(D) President 

 60. fdldk pquko eq[; pquko vk;qDr dh ns[k js[k eas 
ugha gksrk\ 
(A) fo/kkulHkk  
(B) mik/;{k 
(C) xzke iapk;r 
(D) jk”Vªifr 

61. What is the tenure of office for the chief election  
commissioner? 
(A)   5 years or 65 years 
(B) 6 years or 60 years 
(C) 6 years or 65 years 
(D) 5 years or 60 years 

 61. eq[; pquko vk;qDr dk dk;Zdky fdrus o”kZ dk 
gksrk gS\ 
(A) 5 o”kZ ;k 65 o”kZ 
(B) 6 o”kZ ;k 60 o”kZ 
(C) 6 o”kZ ;k 65 o”kZ 
(D) 5 o”kZ ;k 60 o”kZ 

62. By which constitutional Amendment the voting 
age reduced form 21 years to 18 years?   
(A)   61th Amendment 
(B) 62nd Amendment 
(C) 63 Amendment 
(D) 64 Amendment 

 62. er nsus dh vk;q dks fdl lafo/kku la’kks/ku }kjk 
21 o”kZ ls ?kVkdj 18 o”kZ dj nh x;h\ 
(A) 61 oka lafo/kku la’kks/ku  
(B) 62 oka lafo/kku la’kks/ku 
(C) 63 oka lafo/kku la’kks/ku  
(D)   64 oka lafo/kku la’kks/ku 

63. Who is the Chief election commissioner? 
(A)   Om Prakash Rawat 
(B) Sunil Arora 
(C) Sushil Chandra 
(D) None of above 

 63. Hkkjr dk eq[; pquko vk;qDr dkSu gS\ 
(A) vkse izdk’k jkor 
(B) lquhy vjksjk 
(C) lq’khy pUnzk 
(D) buesa ls dksbZ ugha 

64. Which of the following committee made a 
recommendation that election commission should 
be a three member body? 
(A)   Trkunde committee 
(B) Ashok mahta committee 
(C) J.P committee 
(D) None of above 

 64. fuEufyf[kr esa fdl lfefr us pquko vk;ksx dh 
rhu lnL;h; cukus dh flQkfj’k dh Fkh\ 
(A) rkjdqUMs lfefr 
(B) v’kksd esgrk lfefr 
(C) tsŒihŒ lfefr 
(D) buesa ls dksbZ ugha 

65. Which article in Indian constitution provides for the 
post of comptroller and auditor general of India?  
(A)   Article 148 
(B) Article 149 
(C) Article 248 
(D) Article 266 

 65. Hkkjrh; lafo/kku ds fdl vuqPNsn esa Hkkjr ds 
fu;a=d ,oa egkys[kk ijh{kd ds ckjs esa izko/kku 
fn;k x;k gS\ 
(A) vuqPNsn 148 
(B) vuqPNsn 149 
(C) vuqPNsn 248 
(D) vuqPNsn 266 
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66. Which of the statement given below is are correct 
about comptroller and auditor general  
(A)   He is responsible only Parliament  
(B) He is appointed by President  
(C) He may be removed from his office in the 

same manner as a judge of supreme sourt  
(D) All of  Above 

 66. uhps fy[ks dFku esa dkSu ls lgh dFku gSa Hkkjr ds 
fu;a=d egkys[kk ijh{kd ds ckjs esa\ 
(A) og laln ds izfr mRrjnk;h gksrk gS 
(B) mldh fUk;qfDr jk”Vªifr djrk gSA 
(C) mls vius in ls mlh jhfr ls gVk;k tk 

ldrk gS ftl izdkj loksZPp U;k;y; ds 
U;k;k/kh’k dks 

(D) mi;ZqDr lHkh 
67. The attorney general of India is appointed by 

whom? 
(A)   Prime Minister 
(B) President 
(C) Chief justice  
(D) Low minister 

 67. Hkkjr ds egkU;k;oknh dh fu;qfDr fdlds }kjk dh 
tkrh gS\ 
(A) iz/kkuea=h 
(B) jk”Vªifr 
(C) eq[; U;k;/kh’k 
(D) fof/k ea=h 

68. Which article of constitution has provision for the 
constitution of  the commission for scheduled 
tribes 
(A)    332 
(B) 338 A 
(C) 350 
(D)    351 

 68. lafo/kku ds fdl vuqPNsn esa vuqlwfpr tutfr;ksa 
ds ckjs esa vk;ksx dk xBu dk izko/kku djrk gS\ 
(A) 332 
(B) 338 A 
(C) 350 
(D)    351 

69. The right to vote is- 
(A)   Fundamental right  
(B) Fundamental duty 
(C) Right conferred by law 
(D) None of these 

 69. pquko yM+us dk vf/kdkj& 
(A) ewy vf/kdkj gSA 
(B) ewy drZO; gSA 
(C) fof/k }kjk iznRr vf/kdkj gSA 
(D) buesa ls dksbZ ugha 

70. Article 326 of constitution provides suffgage that a 
person should not be less than  
(A)   25  years 
(B) 18 years 
(C) 21 years 
(D) 16 years 

 70. vuqPNsn 326 esa erkf/kdkj iznku fd;k x;k gS& 
(A) U;wure 25 o”kZ 
(B) U;wure 18o”kZ 
(C) U;wure 21 o”kZ 
(D) U;wure 16 o”kZ 

71. Law can be made by Parliament for- 
(A)   Territory of India  
(B) Union Territory only 
(C) State Territory only 
(D) None of these 

 71. laln }kjk fof/k dk fuekZ.k fd;k tk ldsxk& 
(A) Hkkjr ds lEiw.kZ jkT; {ks=  ds fy, 
(B) dsoy la?k jkT; {ks= ds fy, 
(C) jkT; {ks= ds fy, 
(D) buesa ls dksbZ ugha 

72. Which one is not in the three lists of law making  
(A)   Union list 
(B)    State list 
(C) Concurrent list 
(D) Emergenly list 

 72. fof/k fuekZ.k dh rhu lwfp;ksa esa dkSu ugha gS\ 
(A) la?k lwph 
(B) jkT; lwph 
(C) leorhZ lwph 
(D) vkikr lwph 

73. Low can be made on the subject of the concurrent 
list by-  
(A)   Parliament 
(B) State 
(C) Both 
(D) President 

 73. leorhZ lwph ds fo”k;ksa ij fof/k dk fuekZ.k fd;k 
tk ldsxk& 
(A) dsoy laln 
(B) dsoy jkT; 
(C) nksuks 
(D) jk”Vªifr 
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74. The number of members in the council of 
ministers should not exceed- percent of total 
member of the Lok Sabha- 
(A)   15 percent 
(B) 10 percent 
(C) 20 percent 
(D) 25 percent 

 74. dsUnzh; eaf=ifj”kn ds lnL;ksa dh la[;k yksd lHkk 
ds lnL;ks dh dqy  la[;k ls fdrus izfr’kr 
vf/kd ugha gksxh\ 
(A) 15 izfr’kr 
(B) 10 izfr’kr 
(C) 20 izfr’kr 
(D) 25 izfr’kr 

75. What is the maximum number of members of Lok 
Sabha  
(A)   500 
(B) 530 
(C) 520 
(D) 550 

 75. Ykksd lHkk esa vf/kdre fdrus lnL; gks ldrsa gSa\ 
(A) 500 
(B) 530 
(C) 520 
(D) 550 

76. How many members of Rajya Sabha will retire at 
the end of every second year- 
(A)   1/3  
(B) 1/4 
(C) 3/4 
(D) Half 

 76. izR;sd f}rh; o”kZ lekfIr ij jkT; lHkk ds fdrus 
lnL; lsok fuoR̀r gks tk;saxs\ 
(A) ,d frgkbZ 
(B) ,d pkSFkkbZ 
(C) rhu pkSFkkbZ 
(D) vk/ks 

77. Which qualification is not important for the 
member of Parliament  
(A)   He is a citizen of India 
(B) Has completed 30 years age for Rajaya 

Sabha  
(C) Has completed 25 years age for Lok Sabha  
(D) To be literate  

 77. Lkaln dh lnL;rk ds fy, dkSu lh vgZrk 
vko’;d ugha gS\ 
(A) Hkkjr dk ukxfjd gks 
(B) jkT; lHkk ds fy, vk;q 30 o”kZ  
(C) yksx lHkk ds fy, vk;q 25 o”kZ  
(D) lk{kj gksuk 

78. Which of the following is not a function of 
comptroller and auditor general of India 
(A)   Control over the consolidated fund of India 
(B) Audit the account 
(C)    Grant to state  
(D) None of these  

 78. fuEufyf[kr esa D;k Hkkjr ds fu;a=d ,oa egkys[kk 
ijh{kd ds dk;Z ugha gS\ 
(A) Hkkjr dh lafpr fuf/k ij fu;a=.k j[kuk 
(B) ys[kkvksa dk ijh{k.k djuk 
(C) jkT;ksa dks vuqnku nsuk 
(D) buesa ls dksbZ ugha  

79. The executive power of the state is vested in the 
Governor is provide in which article? 
(A)   154 
(B) 152 
(C) 158 
(D) 155 

 79. ÞjkT; dh dk;Zikfydk ‘kfDr jkT;iky esa fufgr 
gksxhß ;g fdl vuqPNsn esa dgk x;k gS\ 
(A) vuqPNsn 154 
(B) vuqPNsn 152 
(C) vuqPNsn 158 
(D) vuqPNsn 155 

80. For how long a person who is not a member of 
Parliament can be appointed  a minister? 
(A)   For 2 years 
(B)  For 1 years 
(C)  For six month 
(D)  For three month 

 80. dksbZ O;fDr tks laln dk lnL; ugha gS ,sls fdrus 
le; ds fy, eU=h fu;qDr fd;k tk ldrk gS\ 
(A) nks o”kZ rd  
(B) ,d o”kZ rd 
(C) N% ekg rd 
(D) rhu ekg rd 

81. In which article of constitution provides that each 
state shall have a high court ? 
(A)   Article 214  
(B) Article 215 
(C) Article 216 
(D) Article  217 

 81. ÞizR;sd jkT; ds fy, ,d mPp U;k;ky; gksxkß ;g 
fdl vuqPNsn esa fn;k x;k  gS\ 
(A) vuqPNsn 214 
(B) vuqPNsn 215 
(C) vuqPNsn 216 
(D) vuqPNsn 217 
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82. What is the term of office of a high court judge  
(A)   Five years 
(B)    60 years 
(C) 62 years 
(D) 65 years 

 82. mPp U;k;ky; ds U;k;k/kh’k dh inkof/k fdruh gS\ 
(A) 5 o”kZ 
(B) 60 o”kZ 
(C) 62 o”kZ 
(D) 65 o”kZ 

83. Who is sovereign in India? 
(A)   President of India 
(B) Prime Minister  
(C) We the people of India  
(D) None of these 

 83. fuEufyf[kr esa ls dkSu Hkkjr esa lEizHkq gS\ 
(A) Hkkjr dk jk”Vªifr 
(B) Hkkjr dk iz/kkuea=h 
(C) ge Hkkjr ds yksx 
(D) buesa ls dksbZ ugha 

84. How many times has the preamble of constitution 
been amended? 
(A)   Once 
(B) Twice 
(C) Four times 
(D) Never  

 84. lafo/kku dh izLrkouk esa fdruh ckj la’kks/ku fd;k 
x;k gS\ 
(A) ,d ckj 
(B) nks ckj 
(C) pkj ckj  
(D) dHkh ugha 

85. In which of following articles “provision of special 
leave to appeal by the Supreme court” is 
provided: 
(A)   Article 136 
(B) Article 134 
(C) Article 133 
(D) Article 132 

 85. fuEufyf[kr vuqPNsnks esa ls dkSu lk vihy ds fy, 
mPpre U;k;ky; dh fo’ks”k btktr lEcU/kh 
izko/kku ls lEcfU/kr gS%  
(A) vuqPNsn 136 
(B) vuqPNsn 134 
(C) vuqPNsn 133 
(D) vuqPNsn 132 

86. Which privilege has been given to the President 
under article 361 of the constitution?  
(A)   No participate in Parliamentary proceedings  
(B) To Act end Join session  
(C) The President shall not be Answerable to 

any court during his term of office   
(D) All of above  

 86. fuEu esas ls dkSu lk fo’ks”kkf/kdkj Hkkjrh; lafo/kku 
ds vuqPNsn 361 ds vUrZxr Hkkjr ds jk”Vªifr dks 
fn;k x;k gS\ 
(A) Lkalnh; izfØ;k esa Hkkx ugh ysuk  
(B) la;qDr vf/kos’ku esa Hkkx ysuk 
(C) vius in ij jgrs gq, fdlh Hkh U;k;ky; 

ds izfr mŸkjnk;hugh gS 
(D) mi;qZDr lHkh 

87. Who has power or right to dissolve the Lok 
Sabha? 
(A)   Speaker of Lok Sabha 
(B) Prime Minister  
(C) Council minister 
(D) None of these  

 87. YkksdlHkk Hkax djus dk vf/kdkj fdldks gS\ 
(A) yksd lHkk v/;{k  
(B) iz/kkuea=h 
(C) ea=hifj”kn 
(D) blesa ls dksbZ ugh 

88. Supreme court was originally composed of the 
chief and other?  
(A)   7 Judge  
(B) 12 Judge 
(C) 13 Judge 
(D) 15 Judge 

 88. LkoksZPp U;k;ky; ewyr% eq[; U;k;/kh’k rFkk -------------
---------ls xfBr Fkk\ 
(A) lkr vU; U;k;/kh’k 
(B) ckjg vU; U;k;/kh’k 
(C) rsjg vU; U;k;/kh’k 
(D) iUnzg vU; U;k;/kh’k 

89. “Conducting free and fair election from time to 
time by election commission” in which case it was 
held that this is part of basic Structure?   
(A)   In case of Gujrat legislative assembly    
(B) S.S. Dhanowa Vs Union of India  
(C) Sadik Ali Vs election commission  
(D) None of the above 

 89. Þpquko vk;ksx }kjk le;&le; ij Lora= ,ao 
U;k;laxr pquko djkukß fuEufyf[kr esa ls fdlds 
vuqlkj lafo/kku dh ewyHkwr lajpuk dk Hkkx gS \  
(A) xqtjkr fo/kku lHkk pquko fo”k; esa  
(B) ,lŒ,lŒ /kuksvk cuke Hkkjr la?k  
(C) lkfnd vyh cuku Hkkjrh; pquko v;ksx  
(D) buessa ls dksbZ ugha 
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90. What is the base for decide to the representation 
of Lok Sabha? 
(A)   State literacy  
(B) Area of state 
(C) Population  
(D) All of above 

 90. Ykksd lHkk dk izfrfuf/kRo fdl ij vk/kkfjr gS& 
(A) jkT; dh l{kjrk 
(B) jkT; dk {ks+= 
(C) tula[;k 
(D) mi;qZDr lHkh 

91. In which case the Supreme court declared that 
Parliamentary proceeding are not a liability of 
fundamental right?   
(A)   Keshav Singh vs Speaker of U.P. Vidhan 

Sabha 
(B) Gunpati Vs Habibul Hasan 
(C) M.S.M. Sharma Vs Sri Krishna Sharma 
(D) State of Vs Panjab Vs Satpal Dang 

 91. mPpre U;k;ky; us fdl okn esa ;g izfrikfnr 
fd;k fd lalnh; dk;Zokgh ewy vf/kdkjksa ds 
nkf;Roghu ugh gS\  
(A) ds’ko flag cuke Lihdj mŒ izns’k fo/kku 

lHkk   
(B) xqukifr cuke gchcqy glu 
(C) ,eŒ,lŒ,eŒ ‘kekZ cuke Jh—“.k flaUgk 
(D) iatkc jkT; cuke lriky Mkax 

92. Judges of Supreme Court and High Court to be 
appointed by the President on the 
recommendation of national judicial commission. 
were allied by which constitutional amendment?  
(A)    99 
(B)  98 
(C) 100 
(D) 101 

 92. mPpre vkSj mPp U;k;ky; ds U;k;/kh’kksa dh 
fu;qfDr jk”Vªh; U;kf;d vk;ksx dh flQkfj’k ij 
jk”Vªifr }kjk fd;k tk;sxk dkSu ls lfo/kku 
la’kks’ku }kjk tksMs+ x;s& 
(A)  99 ok¡ 
(B)  98 ok¡ 
(C) 100 ok¡ 
(D) 101 ok¡ 

93. Under which article of the constitution is annual 
budget presented? 
(A)   Article 115 
(B) Article 112 
(C) Article 118 
(D) Article 110 

 93. Lafo/kku ds fdl vuqPNsn ds vUrZxr okf”kZd ctV 
is’k fd;k tkrk gS\ 
(A) vuqPNsn 115 
(B) vuqPNsn 112 
(C) vuqPNsn 118 
(D) vuqPNsn 110 

94. To whom the speaker of Lok Sabha will Address 
hisresignation?  
(A)   Prime Minister 
(B) Committee constituted by Parliament  
(C) Deputy speaker  
(D) The President  

 94. Ykksd lHkk v/;{k viuk R;kxi= ns ldrk gS& 
(A) iz/kkuea=h dks 
(B) laln }kjk xfBr lfefr dks  
(C) mik/;{k dks  
(D) jk”Vªifr dks 

95. In which case Supreme Court first time declared 
doctrine of prospective overruling?  
(A)   Keswanand Bharti Vs state of Kerala 
(B) Menka Gandhi Vs Union  
(C) Golak nath Vs.state of Panjab  
(D) None of these  

 95. mPp U;k;ky; us loZizFke fdl ckn esa Hkfo”;y{kh 
fofu.kZ; dk fl)kUr izfrifnr fd;k Fkk\ 
(A) ds’kokuUn Hkkjrh cuke dsjy jkT; 
(B) esudk xk¡/kh cuke Hkkjr la?k 
(C) xksydukFk cuke iatkc jkT; 
(D) mi;qZDr esa ls dksbZ ugh 
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96. How many times at least should the Parliament 
meet in a year?  
(A)   Once  
(B) Twice 
(C) Thrice 
(D) None  of these  

 96. laln dh cSBd o”kZ esa de ls de fdruh ckj gksuh 
pkfg,\  
(A) ,d ckj 
(B) nks ckj 
(C) rhu ckj 
(D) blesa ls dksbZ ugh 

97. Who is called custodian of the constitution of 
India?   
(A)    Parliament  
(B) President  
(C) Law Minister 
(D) Supreme court  

 97. Lkafo/kku dk laj{kd fdls dgk x;k gS\ 
(A) laln 
(B) jk”Vªifr  
(C) Hkkjr dk fof/kea=h 
(D) loksZPp U;k;ky; 

98. Who, appoints the Advocate General of state?   
(A)   Chief minister  
(B) Chief Justice of High court  
(C) Governor  
(D) President  

 98. jkT; egkf/koDrk dh fu;qfDr fdlds }kjk dh tkrh 
gS 
(A) eq[;ea=h }kjk 
(B) mPpU;k;ky; ds eq[; U;k;/kh’k }kjk 
(C) jkT;iky }kjk 
(D) jk”Vªifr }kjk 

99. Which of the following is not mentioned in 
constitution? 
(A)   Council of minister 
(B) Deputy Prime Minister 
(C) Vice President  
(D) Lok Sabha Speaker  

 99. fuEufyf[kr esa fdldk mYys[k Hkkjrh; lafo/kku esa 
ugha fd;k x;k gS\ 
(A) eaf=ifj”kn 
(B) mi iz/kkuea=h 
(C) mijk”Vªifr  
(D) yksd lHkk v/;{k 

100. The power of the President of India to Issue an or 
ordinace is a/an:-  
(A)   Executive power   
(B) Legislative power  
(C) Judicial Power  
(D) None of these  

 100. Hkkjr ds jk”Vªifr dh v/;kns’k tkjh djus dh 
‘kkfDr gS\ 
(A) dk;Zdkjh ‘kfDRk 
(B) fo/kk;h ‘kfDRk 
(C) U;kf;d ‘kfDRk 
(D) buesa ls dksbZ ugh 

****** 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for the 

error he / she has made. 

2. This Question Booklet contains 100 questions, out of which only 75 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems correct 

to you, darken that option number in your Answer Booklet (O.M.R 

ANSWER SHEET) completely with black or blue ball point pen. If any 

examinee will mark more than one answer of a particular question, then 

the first most option will be considered valid.    

3. Every question has same  marks. Every question you attempt correctly, marks 

will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R ANSWER 

SHEET). Answer marked anywhere else other than the determined place will 

not be considered valid. 

5. Please read all the instructions carefully before attempting anything on Answer 

Booklet (O.M.R ANSWER SHEET). 

6. After completion of examination please hand over the Answer Booklet 

(O.M.R ANSWER SHEET) to the Examiner before leaving the examination 

room.   

7. There is no negative marking. 

Note:  On opening the question booklet, first check that all the pages of the question 

booklet are printed properly in case there is an issue please ask the examiner to 

change the booklet of same series and get another one.  

 


